50 kg

MMy BX ( IWLikEFR2

N& BE#E ( KIRIF1
TR 2of ( LusgeE
Ae £A ( lLEEmE2

BR #K ( KRI%S




99

kg

A B

yE# FIK

Rl W4

#4 BRAHR

( EisAgEE2 )

( ¥RT%E1 )

( LWBALET )

( Wifm%E2 )

( WifgmzE1 )

( wigmt )

—

ol




60

kg

Rk BEA

RE 4

Bk BR

BRET X

AR B

=

( WEAExS )

( ¥RT%E1 )

(

ifm2

)

( KiRIT%3 )

( EILBAEREES )

(

fm2

)

—




66

kg

1 Ffk ER

3 EH T

»
it
it
)
ot

9 BB

10 it X

( KIRTFEA

( WiEE#E

( EwiBAFEES

( Wirms

( EwimAFEE2

( WkmEE2

( WkmEE

( BRI

( %S

)

—

—




74

kg

AE E

Wk AE

Nk BEE

BR st

Fiz B

i S

(

(

(

(

(

(

KRI%ES

L BAETEE 1

LiliAFEE2

KRT%2

LB EES

e @EE1

BX#k2

I E%ES

)

)

)

)

[=1F 3

[=1F 3

—_

—_




84

kg

I 8t

7 BRI K B

B9 ET

A+EBE

Zih FE

SRS ARER

IR RS

L ILBAZTEE

L IIBAFREES

L IIBAFREES

KRIT A

IR %2

—

O n




96

kg

FL MK

( WAExS )

( WiE=x1 )

( LWBALET )

( Wifgm%E2 )

O~

» O




120

kg

1 SRFABAE ( WEEES )

2 HF K3

3 MR F

( EsasE1 )

( EliBAZeE2 )

N

ol




BAEF) B&BL
1 BEDER
2 BEDER
3 EDER
4 FEDER
5 EDAR
6 FLEDER
7 REDER

kg

JLan0—< > RA34)L55kg#k
JLan—< 2 X454 )L60kgik
JLan—<I> R34 )L66kgiHk
JLan—< 2 X454 )L66kgik
JLan—<I> R34V 74keik
JLan—<I 2 R4 4 )L84kg#k
JLan—<I> R34 )L96ke#k

5% £ 4Rl

= ]

1B &

1 K&
1 #H
2 INEF
1 %8
1 8%
1 £

FE
i

RE
&9

fed

BisE
ALSOK
BiAK45E
REK2%F
HEXE

h K44
BEKAE K
JAZEILFR



N

99

kg

Bl B

mE B

X HE

( =s—vy—=>7 )

( BXR1#E )

( @K1 )

( IKR2%F )

» O

-




—

60

kg

Ak F#

aE EX

HE aF

RILfEAER

aH#

Hi:
o

BE BKX

( WiRgH&EFT )

( fHEEE )

( IR2%F )

( BAKSZFE )

( EEETHR )

( BEX®¥4FE )




66 kg

HH T ( #/HARRHAR )

AR B ( meesKkiE )

B B ( ASEER )




14 kg

KFERFEH (EXERtE> )

&5 X ( BEX1£ )

®Ek B= (T1hLP—)

» O




84 kg

Rl B ( EEREER )

& R ( BExX1E)




96 kg

1 HKHE #2 ( EX2§ )

2 KE Bk ( wukhxBEs )

3 tF BB ( BX1£ )

» O




BABF) &L

1 BREDER
2 EDER
3 BEFEDER
4 FREDER
5 BEDER
6 RLEFEDER
7 BEDER
8 FEFEDER
9 REFEDER
10 B DER
11 BEDER
12 BEDER
13 FEDER
14 BEDER
15 BEDER
16 FEDER
17 BEDER
18 FEDER
19 FEDER

ke

J)—R43A)L55keik
J)—RA3A)L55keik
J)—RA3A)L55keik
J)—RA3A)L55kgik
J1)—RA3AJL60keik
7)—R43A)L60keik
J)—RA3AJL60keik
71)—R43A)L60keik
) —RA3A)L66keHk
) —RA3A)L66keik
) —R3A)L66keik
V) —RE2A L7 dkgik
TV—RAA L7 4kgiR
V) —REAAIL7 dkgih
V) —RA2A1JL84kegik
V) —R3A)L84kegik
1) —RAA1JL96kegik
V) —RA3A)L96kegik
) —RAA1JL96kegik

8 fL B

1 [EZE B
2 HA E=x
3 #/K FHHE
3 #N/A
1 Hk 2
2 KILEEAER
3HE aF
3 #N/A
1 HE o
2 =k A
3 #N/A
1 %% F=
2 KPP ERSS#E
3 #N/A
15 &
2 #N/A
1 X7 #5
2 #N/A
3 KiZE BX

Bi5
MEK1E
BX1&
T —=
#N/A
W&
BAK3E
K24
#N/A
) RHRARH Z
RLEEE
#N/A
SATAHILL—
LBt
#N/A
EtXK1E
#N/A
BR1E
#N/A
L2 o R ERE R



